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GENERAL INTELLIGENCE
1. A is the brother of B. C is the sister of A. D is

the brother of E, and F is the daughter of B.
WHo is D’s uncle?
A, B keâe YeeF& nw~ C A,  keâer yenve nw~ D E,  keâe YeeF& nw Deewj
F B,  keâer heg$eer nw~ D keâe ÛeeÛee keâewve nw?
(a) D (b) A
(c) E (d) Data Inadequate

2. If ‘MIGHT’ is written as ‘KGEFR’, how can
‘DIARY’ be written in that code?
Ùeefo efkeâmeer keâes[ ceW ‘MIGHT’ keâes ‘KGEFR’ efueKee peelee nw,
lees Gme keâes[ ceW ‘DIARY’ keâes kewâmes efueKee peeSiee?
(a) AGZPV (b) BGYPW
(c) BGWOV (d) AGTNW

3. Select the missing number from the given
responses.
efoS ieS efJekeâuheeW ceW mes ueghle mebKÙee %eele keâerefpeS~

5 7 9
4 8 2
8 6

160 336 108
I

(a) 4 (b) 7 (c) 6 (d) 8
4. From the given alternatives, select the word

which cannot be formed using the letters of
given word.
efoS ieS efJekeâuheeW ceW mes Gme Meyo keâes ÛegefveS efpemes efoS ieÙes De#ejeW
kesâ ØeÙeesie Éeje veneR yeveeÙee pee mekeâlee~
CUMBERSOME
(a) MOUSE (b) SOBER
(c) MERCY (d) ROME

5. Insert the arithmetic operations in the
following numerical figures :
efvecveefueefKele mebKÙeelcekeâ DebkeâeW ceW ieefCeleerÙe mebef›eâÙee Meeefceue
keâerefpeS~
70, 7, 113, 13  390
(a) , –, (b) , , (c) , , (d) , ,

6. Ramesh walks 2 km to the West. Then he turns
right and walks 3 km. Once again he turns
right and walks 2 km. Finally, he turns his
right and walks some distance. At the end,
towards which direction is he facing?
jcesMe heefMÛece keâer Deesj 2 efkeâceer Ûeuelee nw~ efheâj Jen oeSb cegÌ[keâj
3 efkeâceer0 Ûeuelee nw~ Jen efheâj oeÙeW cegÌ[lee nw Deewj 2 efkeâceer Ûeuelee
nw~ Devlele: Jen oeSb cegÌ[keâj kegâÚ otj Ûeuelee nw~ Deble ceW Jen efkeâme
efoMee keâer Deesj cegKe keâjkesâ KeÌ[e nw?

(a) East/hetJe& (b) West/heefMÛece
(c) North/Gòej (d) South/oef#eCe

Directions for question 7 to 9 : Select the related
letter/word/number from the given alternatives.

ØeMve mebKÙee 7 mes 9 lekeâ kesâ efueS efveoxMe : efoÙes ieÙes efJekeâuheeW ceW mes
mecyeefvOele De#ej/Meyo/mebKÙee keâes ÛegefveS~
7. Whale : Mammal :: Turtle : ?

Jnsue : mleveheeÙeer :: keâÚgDee : ?
(a) Amphibian/GYeÙeÛej (b) Oviparous/DeC[eslhevve
(c) Fish/ceÚueer (d) Mollusc/ceesuemkeâ

8. C I D: : ?
(a) L (b) M (c) N (d) O

9. 27 3 873: : : : ?
(a) 23 (b) 97 (c) 9 (d) 87

Direction for question 10 to 13 : Find the odd
word/number/letters/number pair from the given
alternatives.

ØeMve mebKÙee 10 mes 13 lekeâ kesâ efueS efveoxMe : efoÙes ieÙes efJekeâuheeW ceW
mes efJe<ece Meyo/mebKÙee/De#ej/mebKÙee Ùegice ÛegefveS~
10. (a) Content/efJe<eÙe-Jemleg (b) Bibliography/«ebLe-metÛeer

(c) Press/he$ekeâeefjlee (d) Preface/ØemleeJevee
11. (a) 1876 (b) 1984 (c) 2024 (d) 2014
12. (a) 3-9 (b) 5-25 (c) 7-49 (d) 8-64
13. (a) DHF (b) KOM (c) RVT (d) WYX
14. Arrange the following words as per their order

int he English dictionary.
efvecveefueefKele MeyoeW keâes Deb«espeer MeyokeâesMe ceW efoS ieS ›eâce kesâ
Devegmeej efueKeW~
1. Fish 2. Fan 3. Flesh 4. Feast
5. Fraud
(a) 2, 4, 1, 3, 5 (b) 3, 5, 4, 2, 1
(c) 2, 4, 3, 1, 5 (d) 4, 2, 1, 5, 3

15. Kapil secured 8th rank is a class of 28 students.
What is his rank from the last?
keâefheue 28 efJeÅeeefLe&ÙeeW keâer keâ#ee ceW 8Jeeb mLeeve Øeehle keâjlee nw~
Deble mes Gmekeâe mLeeve keäÙee nw?
(a) 20 (b) 19 (c) 21 (d) 22

Direction for question 16 to 18 : A series is given with
one or more term missing. Choose the correct
alternative from the given options that will complete
the series.

ØeMve mebKÙee 16 mes 18 lekeâ kesâ efueS efveoxMe : Skeâ Deveg›eâce efoÙee nw,
efpemeceW Skeâ Ùee Skeâ mes DeefOekeâ heo ueghle nw~ efoÙes ieÙes efJekeâuheeW ceW mes
Jen mener efJekeâuhe ÛegefveS pees Deveg›eâce keâes hetje keâjs~
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16. A, C, F, K, ?
(a) D (b) O (c) R (d) I

17. a_ca_bcab_cab_c
(a) babc (b) cacb (c) aacc (d) bbaa

18. 24, 29, 525, 749, ?
(a) 11121 (b) 981 (c) 10100 (d) 864

19. One statemetn is given followed by four
conclusion I, II, III and IV. You have to
consider the statemtn to be true, even if it
seems to be at variance from the commonly
known facts. You are to decide which of the
given conclusions can definitely be drawn
from the given statements.
Skeâ JekeäleJÙe efoÙee ieÙee nw, efpemekesâ Deeies Ûeej efve<keâ<e& I, II, III
Deewj IV efvekeâeues ieÙes nQ~ Deehekeâes efJeÛeej keâjvee nw efkeâ JekeäleJÙe
melÙe nw Ûeens Jen meeceevÙele: %eele leLÙeeW mes efYevve Øeleerle neslee nes~
Deehekeâes efveCe&Ùe keâjvee nw efkeâ efoS ieS JeòeâJÙe ceW mes keâewve-mee
efveefMÛele ™he mes mener efve<keâ<e& efvekeâeuee pee mekeâlee nw~
Statement/keâLeve :
Hard work is a poor man’s wealth.
heefjßece efveOe&ve keâe Oeve nw~
Conclusions/efve<keâ<e& :
I. A poor man is always a hard worker.

efveOe&ve JÙeefkeäle ncesMee heefjßeceer neslee nw
II. A poor man earns wealth through his hard work.

efveOe&ve JÙeefkeäle Deheves heefjßece mes Oeve keâceelee nw~
III.A wealthy man is always a hard worker.

Oeveer JÙeefkeäle ncesMee heefjßeceer neslee nw
IV. A poor man can earn wealth if he is a hard

worker.
efveOe&ve JÙeefkeäle Ùeefo heefjßeceer nes lees Oeve keâcee mekeâlee nw

(a) Conclusioni II only/kesâJeue efve<keâ<e& II
(b) Conclusion I and III only/kesâJeue efve<keâ<e& I Deewj III
(c) Conclusion II and III only/kesâJeue efve<keâ<e& II Deewj III
(d) Conclusion IV only/kesâJeue efve<keâ<e& IV

20. Identify the diagram that the best represents
the relationship among classes given below :
Pulses, Redgram, Moongdal
Jen DeejsKe ÛegefveS pees veerÛes efoS ieS JeieeX kesâ yeerÛe mecyebOe keâe mener
efve™heCe keâjlee nw~
oeueW, Dejnj, cetbieoeue

21. From the given answer figures, select the one
in which the question figure is hidden/
embedded.
oer ieF& Gòej Deeke=âefleÙeeW ceW mes Gme Gòej Deeke=âefle keâes ÛegefveS efpemeceW
ØeMve Deeke=âefle efveefnle nw~
Question Figures/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

22. Identify the alternative which resembles the
mirror-image of the given word.
Jen efJekeâuhe yeleeFS pees efoS ieS Meyo keâe ohe&Ce Øeefleefyecye nw~
ENDURANCE
(a) (b)
(c) (d)

23. A square sheet of paper has been punched
after folding. Its appearance, when opened, is
shown in the question figure. You have to
figure out in which folded position it was
punched.
Skeâ Jeiee&keâej keâeiepe keâes ceesÌ[ves kesâ yeeo Úso efkeâS ieS nQ~ Keesueves
kesâ yeeo Fmekeâer pees Deeke=âefle yeveleer nw Gmes ØeMve Deeke=âefle ceW efoKeeÙee
ieÙee nw~ Deehekeâes yeleevee nw efkeâ keâeiepe ceW efkeâme ceesÌ[er ieF& efmLeefle ceW
Úso efkeâÙee ieÙee nw~
Questions Figures/ØeMve Deeke=âefleÙeeB

Answer Figures/Gòej Deeke=âefleÙeeB :

24. What angle will the hour hand and minute
hand make at 2 : 30 am?
megyen kesâ 2 yepekeâj 30 efceveš hej IeÌ[er keâer megF&ÙeeB Skeâ otmejs mes
efkeâleves keâesCe hej nesieer?
(a) 115° (b) 98° (c) 110° (d) 105°
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25. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in the
alternatives are represented by two classes of
alphabets as in the matrix given below.
The colums and rows of Matrix-I are numbered
from 0 to 4 and that of Matrix-II from 5 to 9. A
letter from the matrix can be represented first
by its row and next by its column, e.g., ‘P’ can
be represented by 00, 14, etc., and ‘T’ can be
represented by 57, 69, etc. Similarly, you have
to identify the set for the word ‘WITH’.
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee
efkeâ efJekeâuheeW ceW mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW ceW efoS
ieS mebKÙee mecetn, De#ejeW kesâ oes JeieeX Éeje oMee&S ieS nQ, pewmee efkeâ
veerÛes efoS ieS cewefš̂keäme ceW nw~ cewefšk̂eäme-I kesâ mlecYees Deewj hebefkeäleÙeeW
keâer mebKÙee 0 mes 4 oer ieF& nw Deewj cewefšk̂eäme-II keâer 5 mes 9~
cewefšk̂eäme ceW Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj efheâj mlecYe
mebKÙee Éeje yeleeÙee pee mekeâlee nw~ GoenjCe kesâ efueS ‘ ’P  keâes 00,
14 Deeefo Éeje yeleeÙee pee mekeâlee nw leLee ‘ ’T  keâes 57, 69, Deeefo
Éeje yeleeÙee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes Meyo kesâ efueS
mebKÙee mecetn ‘WITH’ keâes henÛeevevee nw~

Matrix-I Matrix-II

0 1 2 3 4 5 6 7 8 9

0 P Q I W R 5 X Y T Z H

1 I W R Q P 6 Z H Y X T

2 R I W P Q 7 Y T X H Z

3 W P R Q I 8 T Z M X Y

4 Q R P I W 9 H Y Z T X

(a) 11, 21, 85, 66 (b) 43, 30, 44, 02
(c) 78, 43, 85, 11 (d) 10, 95, 59, 03

General Awareness
26. India's most southern latitude is-

Yeejle keâe oef#eCelece De#eebMe nw-
(a) 35 degree 6 minute North/ 35 ef[«eer 6 efceveš Gòej
(b) 8 degree 4 minute North/ 8 ef[«eer 4 efceveš Gòej
(c) 37 degree 6 minute North/ 38 ef[«eer 6 efceveš Gòej
(d) 36 degree 4 minute North/ 36 ef[«eer 4 efceveš Gòejd

27. Mushrooms are-
ceMe™ce nw—
(a) Algae / keâeF&
(b) Fungi/ keâJekeâ (hebâpeeF&)
(c) Virus / JeeÙejme
(d) Bacteria / yewkeäšerefjÙee

28. Naturally occurring heaviest element is-
efvecveefueefÛeele ceW mes Øeeke=âefle ™he mes Øeehle nesves Jeeuee meyemes Yeejer
lelJe nw-
(a) Aluminum/ SuegefceefveÙece
(b) Iron/ ueesne

(c) Silicon / efmeefuekeâe@ve
(d) Uranium/ ÙetjsefveÙece

29. What is the percentage of silver in "German
Silver"?
‘‘pece&ve efmeuJej’’ ceW ÛeeBoer keâe ØeefleMele efkeâlevee nw?
(a) 25% (b) 0% (c) 75% (d) 80%

30. Narmada river originates from-
>vece&oe veoer keâe Gûce keâneB nw?
(a) Bheraghat/ YesjeIeeš
(b) Amarkantak/ Decejkebâškeâ
(c) Dindauri/ ef[b[ewjer
(d) Allahabad/ Fueeneyeeo

31. Which state has largest reserve of copper ore?
efvecveefueefKele ceW mes efkeâme jepÙe ceW meyemes DeefOekeâ ‘leebyes kesâ DeÙemkeâ’
keâe YeC[ej nw?
(a) Andhra Pradesh/ DeebOeÇ ØeosMe
(b) Chhattisgarh/ ÚòeermeieÌ{
(c) Jharkhand/ PeejKeC[
(d) Rajasthan/ jepemLeeve

32. Which state has made rain water harvesting
compulsory for all houses?
efvecveefueefKele ceW mes efkeâme jepÙe ves ‘jsve Jeešj neJexefmšbie’ ØelÙesskeâ Iej
ceW DeefveJeeÙe& keâj efoÙee nw?
(a) Rajasthan/ jepemLeeve
(b) Maharashtra/ ceneje<š^
(c) M.P/ ceOÙe ØeosMe
(d) Tamil Nadu/ leefceuevee[g

33. Army day is celebrated on-
efvecveefueefKele ceW mes efkeâme efove efoJeme ceveeÙee peelee nw?
(a) 12th January (b) 15th January
(c) 15th Feburary (d) 15th December

34. Age of the candidate to contest parliamentary
election should not be less than-
mebmeoerÙe ÛegveeJe ceW GcceeroJeej keâer DeeÙeg nesveer ÛeeefnS~
(a) 18 years (b) 21 years
(c) 25 years (d) 30 years

35. Who started Bhoodan Movement?
Yet-oeve Deevoesueve efkeâmeves DeejcYe efkeâÙee Lee?
(a) Mahatma Gandhi/ cenelcee ieeBOeer
(b) Jayaprakash Narayan/ peÙeØekeâeMe veejeÙeve
(c) Vinoba Bhave/ efJeveesyee YeeJes
(d) Acharya Kripalani/ DeeÛeeÙe& ke=âheueeveer

36. Panama Canal joints which two occans?
heveecee venj efkeâve oes cenemeeiejeW keâes peesÌ[leer nw?
(a) Pacific and Atlantic/ ØeMeevle leLee Dešueebefškeâ
(b) Atlantic and Indian/ Dešueebefškeâ  leLee efnvo
(c) Indian and Pacific/ efnvo leLee ØeMeevle
(d) Atlantic and North/ Dešueebefškeâ leLee Gòejer meeiej

37. The name of cloud "Nimbus" defines-
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‘efvecyeme efkeâme cesIe keâes oMee&lee nw?
(a) Looking like feather/  hebKe keâer lejn ueieves Jeeues
(b) Looking like heap/ {sj keâer lejn ueieves Jeeues
(c) Rain cloud/ Je<ee& cesIe
(d) Having rounded tops/ Thej mes ieesueekeâej ueieves Jeeues

38. Who founded the dynasty of Tuluva?
leguegJe jepeJebMe keâer mLeehevee efkeâmeves keâer?
(a) Narsa Nayaka/ vejmee veeÙekeâ
(b) Krishnadeva Raya/ kegâ<CeosJe jece
(c) Achyut  Raya/ GÛÙegle jeÙe
(d) Veer Narasingh/ Jeerj vejefmebn

39. Which of the following is not an Upaveda?
efvecve ceW mes keâewve-mee GheJeso veneR nw?
(a)  Dhanurveda/ OevegJexo
(b) Arthastra Shastra/ DeLe&MeeŒe MeeŒe
(c) Ayurveda/ DeeÙegJexo
(d) Yogveda/ ÙeesieJeso

40. Central Vigilance Commissioner holds the
office for-
kesâvõerÙe meleke&âlee DeeÙegòeâ Deheves heo hej yevee jn mekeâlee nw-
(a) 5 years or 62 year of age
(b) 5 years or 65 years of age
(c) 4 years or 62 years of age
(d) 4 years or 65 years of age

41. Where is Thattekad bird santuary located?
Leóskeâ[ he#eer DeYeÙeejCÙe keâneB efmLele nw?
(a) Kerala/ kesâjue
(b) Arunachal Pradesh/ De™CeeÛeue ØeosMe
(c) Punjab / hebpeeye
(d) Gujarat / iegpejele

42. Which scientist  has given laws of Electrolysis?
efkeâme Jew%eeefvekeâ ves Fueskeäš̂esefueefmeme kesâ efveÙece efoÙes nw?
(a) Kelvin/ kesâefuJeve
(b) Dalton/ [eušve
(c) Archimedes/ Deeefke&âefce[erpe
(d) M. Faraday/ Sce. hewâje[s

43 Which was the first vitamin to be produced by
fermentation process?
efkeâCJeve Øeef›eâÙee Éeje Glheeefole henuee efJešeefceve keâewve-mee nw?
(a) Vitamin C/ efJešeefceve meer
(b) Vitamin A/ efJešeefceve S
(c) Vitamin B12 / efJešeefceve yeer12
(d) Vitamin D/ efJešeefceve [er

44. What is the calorific value (in kj/g) of Ethanol?
FLesvee@ue keâer kewâueesefjefheâkeâ JewuÙet (kj/g) ceW keäÙee nw?
(a) 55 (b) 150 (c) 30 (d) 35

45. Which is the respiratory organ in the spider?
cekeâÌ[er ceW Õemeve Debie keâewve-mee nw ?

(a) Book surface/Mejerj keâer melen
(b) Book lungs/ yegkeâ uebime
(c) Book gills/ yegkeâ efieume
(d) Air bladder/ SÙej yuew[j

46. Which of the following crop is affected by early
blight diseases?
efvecveefueefKele ceW keâewve-meer heâmeue Deiesleer Peguemee jesie mes ØeYeeefJele
nesleer nw?
(a) Patato/ Deeuet
(b) Rice / ÛeeJeue
(c) Sugarcane/ ieVee
(d) Wheat/ iesntB efJešeefceve [er

47 Which of the following is/are correct about the
Governor?
jepÙeheeue kesâ mevoYe& ceW keâewve-mee keâLeve mener nw?
1. He nominates 1/4th of the members of state
legislative council
Jen jepÙe efJeOeeve heefj<eo kesâ 1/4 meomÙeeW keâes ceveesveerle keâjlee nw~
2.He can nominate 2 members to the state

legistative assembly from Anglo-
Indian community.

Jen Sbiuees- Fbef[Ùeve mecegoeÙe ceW mes jepÙe efJeOeevemeYee kesâ efueS 2
meomÙeeW keâes ceveesveerle keâj mekeâlee nw~
(a) only 1 (b) only 2
(c) Both 1 and 2 (d) None of the above

48 Which one of the following form is not the
major compnent of the wholesale Price Index
in India?
efvecve ceW mes keâewve-mee Skeâ, Yeejle ceW Leeskeâ cetuÙe metÛekeâebkeâ keâe
cegKÙe Ieškeâ veneR nw?
(a) Primary articles/ ØeeLeefcekeâ JemlegS
(b) Fuel & Power/ FËOeve Deewj efyepeueer
(c) Services/ mesJeeSb
(d) Manufactured Products/ efJeefveefce&le Glheeo

49. Which one of the following country sings
Nuclear Treaty  with India, currently as a 14th
country?
(a) Japan / peeheeve
(b) Vietnam/ efJeÙeleveece
(c) Australia/ Deemš^sefueÙee
(d) Srilanka/ ßeeruebkeâe

50. Under which five-year Plan was the decision,
to establish a socialistic pattern of society,
taken?
efkeâme hebÛeJe<eeaÙe Ùeespevee kesâ Devleie&le meceepe kesâ meceepeJeeoer {ebÛes
keâer mLeehevee keâe mebkeâuhe efueÙee ieÙee Lee?
(a) Ist Five-Year Plan
(b) IInd Five-Year Plan
(c) IIIrd Five-Year Plan
(d) IVth Five-Year Plan
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Math
51. The value of 1

60
1
84

1
126

1
198

1
86

 is —

1
60

1
84

1
126

1
198

1
86

 keâe ceeve nw~

(a) 8
65

(b) 2
65

(c) 4
65

(d) 3
65

52. The digit at unit place of the number
( ) ( ) ( ) ( )1640 1641 1662 16932 2 2 2  is
mebKÙee ( ) ( ) ( ) ( )1640 1641 1662 16932 2 2 2  keâe FkeâeF&
keâe Debkeâ nw-
(a) 3 (b) 0 (c) 4 (d) 1

53. Two circles touch each other internally. Their
radius are 3 cm and 4 cm. Find the length of the
biggest chord of the greater circle which
touches outside of the inner circle.
oes Je=òe Skeâ otmejs keâes Deevleefjkeâ ™he mes mheMe& keâjles nw~ Gvekeâer
ef$epÙeeSB 3 mesceer. leLee 4 mesceer. nw~ ye[s Je=òe keâer ye[er mes ye[er peerJee
%eele keâerefpeS pees Deevleefjkeâ Je=òe keâes yeenj mes mheMe& keâjW~
(a) 7 cm (b) 4 3 cm (c) 12 cm (d) 7 3 cm

54. If x
x
1 4, then the value of 4

4 52x x
 is —

Ùeefo 1
60

1
84

1
126

1
198

1
86

 lees 4
4 52x x

 keâe ceeve

nQ~
(a) 4

3
(b) 1 (c) 2 (d) 3

55. The value of sin sin
cos sec

sin
cos

2
2

1 1
1

will be —

sin sin
cos sec

sin
cos

2
2

1 1
1

keâe ceeve nesiee~

(a) 1 (b) 2 (c) 3 (d) 5
56. If x 3 2 2, then find the value of x

x
2

2
1 .

Ùeefo x 3 2 2  nes, lees x
x

2
2

1  keâe ceeve %eele

keâerefpeS~
(a) 24 (b) 12 2 (c) 12 (d) 24 2

57. If A : B : C = 3 : 4 : 5, then what is the ratio of
A B
C

B C
A

C A
B

: : ?

Ùeefo A : B : C = 3 : 4 : 5 lees A B
C

B C
A

C A
B

: : keâe

(a) 7 : 15 : 10 (b) 3 : 4 : 5
(c) 7 : 10 : 15 (d) 5 : 4 : 4

58. If sin cos3 1, then the value of
3 sin cos  is equal to :
Ùeefo sin cos3 1, lees 3 sin cos   keâe ceeve nw~

(a) 0 (b) 1 (c) 2 (d) 3
59. By mistake, instead of dividing Rs. 132 among

A, B and C in the ratio 1 1
2

1
3

: : , is divided in the

ratio of 1 : 2 : 3. Who gain the most ?

™. 132 keâes A B,  leLee C kesâ yeerÛe ›eâceMeŠ 1 1
2

1
3

: :  kesâ Devegheele

ceW yeešBe peevee Lee, pees ieueleer mes 1 2 3: :  kesâ Devegheele ceW yeeBše ieÙee~
FveceW mes meyemes pÙeeoe efkeâmekeâes efceuee~
(a) Alll gained equal profit (b) A
(c) B (d) C

60. Find theslope of line which is prependicular to
line passing through the points P(3, 2)and
Q(—3, —5).
jsKee keâj ØeJeCelee %eele keâjW, peesefyevogDeeW P( — )3 2  Deewj
Q( , )3 5  mes iegpejves Jeeueer jsKee kesâ uecyeJeled nQ~
(a) 1

2
(b) 2 (c) —2 (d) 1

2
61. A rectangular block of metal hasdimensions 63

cm,77 cm and 64 cm. The block has been melted
into asphers. The diameter of the sphere is—
Skeâ Oeeleg kesâ DeeÙeleekeâej efheC[ keâer efJeceeÙeW 63 64 77 mesceer 3

nw~ Fme efheC[ keâes ieueekeâj Skeâ ieesues ceW heefjJeefle&le keâj efoÙee peelee
nw~ Fme ieesues keâe JÙeeme nQ—
(a) 42 cm (b) 84 cm (c) 12 cm (d) 24 cm

62. The diameter of base of right circular cone is
14cmand the height is 24 cm. Find curved
surface area of circular cone.
Skeâ uecye Je=òeerÙe Mebkegâ kesâ DeeOeej keâe JÙeeme 14 mesceer. Deewj TBÛeeF&
24 mesceer. nQ, lees Gmekesâ Je›eâ he=‰ keâe #es$eheâue %eele keâerefpeS~
(a) 18 2cm (b) 175 2cm

(c) 160 2cm (d) 150 2cm

63. A person purchases rice for Rs. 250 per quinta
and10% of rice isdestroyed. What should be
therate of remaining riceper quintal so as to
earn of profit 20% ?
Skeâ JÙeefòeâ ™. 250 Øeefle efkeäJebšue keâer oj mes kegâÚ ÛeeJeue
Kejerolee nw Deewj 10%  ÛeeJeue yeyee&o nes peelee nw~ Mes<e ÛeeJeue keâes
efkeâme YeeJe mes yesÛes keâer 20% keâe ueeYe nes~
(a) Rs. 275.75 (b) Rs. 333.3
(c) Rs.225.25 (d) Rs. 250

64. The expense of rice, sugar and oil of a family
are in the ratio of 5 : 4 : 3. The prices of these
articles  are increased by 20% and 50%
respectively. Then, find the total increased
percentage in expense.
ÛeeJeue, Ûeerveer leLee lesue kesâ cetuÙe 5 4 3: :  kesâ Devegheele ceW nw~ Deiej
Fvekesâ cetuÙeeW ceW ›eâceMeŠ 20 30%, % leLee 50% keâer ye{esòejer nesleer
nw, lees KeÛe& ceW kegâue ØeefleMele Je=efæ %eele keâjes~
(a) 50% (b) 40% (c) 30 5

6
% (d) 331

3
%
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65. A and C together can complete a piece of work
in 10 days and A alone can complete that work
in 15 days. All of the three together can
complete the work in 6 days. In how many
days, A and B together can complete the work ?
A Deewj C efceuekeâj efkeâmeer keâece keâes 10 efoveeW ceW leLee A Dekesâuee
Gmeme keâece keâes 15 efoveeW ceW hetje keâjlee nw~ leerveeW efceuekeâj 6 efoveeW
ceW keâece Kelce keâj mekeâles nw~ A Deewj B Gme keâece keâes efkeâleves efoveeW
ceW Kelce keâjsieW~
(a) 7 1

2
  days (b) 8 1

2
  days

(c) 10 days (d) 12 days
66. The product of two numbers is 1365. If the HCF

of the numbers is 1, then the greatest number
is —
oes mebKÙeeDeeW keâe iegCeveheâue 1365 nw~ Ùeefo Gvekeâe cet. me. 1 nw~
lees ye[er mebKÙee keäÙee nw~
(a) 39 (b) 37 (c) 47 (d) 41

67. A monkey climbs  5 metres in 1 minute and
slips 3 metres in the next minute on a pole. If
the height of pole is 21 metres, then in how
much time, he will reach at the top of a pole ?
Skeâ yevoj Skeâ KecYes hej 1 efceveš ceW 5 ceer. Ûe{lee nw~ Deewj
Deieues efceveš ceW 3 ceeršj efheâmeue peelee nw~ Ùeefo KecYes keâer TBÛeeF&
21 ceer. nes, lees Gme yevoj keâes Gme KecYes kesâ Thej hetCe&leŠ Ûe{
peeves ceW efkeâlevee meceÙe ueiesiee~
(a) 20 1

2
 minute (b) 17 minutes

(c)18 1
2
 minutes (d) 21 minutes

68. If the Mean of 4 observations is 20. When a
constant 'e' is added to each observation, the
mean becomes 24. The value of e is —
4 ceeheveeW keâe Deewmele 20 nw~ peye ' 'e  keâe ØelÙeskeâ mebKÙee ceW pees[
efoÙee peeÙes lees Deewmele 24 nes peelee nw~ ' 'e  keâe ceeve nQ—
(a) 6 (b) 4 (c) 2 (d) 5

69. A pipe of diameter 5 cm can drain a water tank
in 40 minutes. The time taken by a pipe of
diameter 10 cm for doing the same job is—
Skeâ 5 mesceer. JÙeeme Jeeues heeFhe keâes šQkeâ keâes Keeueer keâjves ceW 40
efceveš ueieles nQ~ lees 10 mesceer. JÙeeme Jeeues heeFhe keâes šQkeâ keâes
Keeueer keâjves ceW efkeâlevee meceÙe ueiesiee~
(a) 10 minutes (b) 12 minutes
(c)15minutes (d) 8 minutes

70. The angle of elevation of a ladder lenning
against a wall is 60° and the foot of the ladder
is 5 m away from the wall. The length of the
ladder is :
oerJeej kesâ menejs Ke[er Skeâ meer{er keâe GvveÙeve keâesCe 60  nw Deewj
meer{er keâe efmeje oerJeej mes 5 ceeršj otj nw~ meer{er keâer uecyeeF& nQ‘—
(a) 5 m (b) 6.2 m (c) 10 m (d) 5 m

71. A, B and C invest in a business in the ratio of
105 : 40 : 36. After 4 months, A increase his
share 50%. If the total profit at the end of one
year be Rs. 21.600, then B's share in the profit
is —
A B,  Deewj C Skeâ JÙeeheej ceW 105 40 36: :  kesâ Devegheele ceW efveJesMe
keâjles nQ~ A, 4 cenerveeW kesâ yeeo Deheves efnmmes ceW 50% keâer ye{esòejer
keâj oslee nw~ Ùeefo meeue kesâ Devle ceW kegâue ueeYe ™. 21,600 nes,
lees ueeYe ceW B  keâe efnmmee nQ—
(a) Rs. 2100 (b) Rs. 2400
(c) Rs. 3600 (d) Rs. 4000

Directions for questions 72 to 74 : The following line
graph gives the annual profit earned by a company
during the period 2010—2015. Read the graph and
answer the questions.

ØeMve mebKÙee 72 mes 74 kesâ efueS efveoxMeŠ veerÛes efoÙee ieÙee jsKeerÙe «eeheâ
Skeâ keâcheveer kesâ Je<e& 2010 mes 2015 lekeâ kesâ ueeYe ØeefleMele keâes
efve™efhele keâjlee nw~ «eeheâ keâe DeOÙeÙeve keâerefpeS Deewj ØeMveeW kesâ Gòej
oerefpeS~

%Profit
InCome Expenditure

Expenditure
100

%ueeYe
DeeÙe - JÙeÙe

JÙeÙe
100

72. If the income in 2010 was 250 crores, what was
the expenditure in 2010 ?
Ùeefo 2010 ceW DeeÙe 250 keâjes[ Leer, lees 2010 ceW JÙeÙe keäÙee Lee~
(a) 160 crores (b) 187.5 crores

(c) 178.5 crores (d) None of these
73. What is the average profit earned for the given

years ?
efoÙes ieÙes Je<eeX ceW ueeYe keâe Deewmele ØeefleMele keäÙee nw~
(a) 40% (b) 30% (c) 20% (d)50%

74. In which year is the expenditure minimum ?
efkeâme Je<e& ceW vÙetvelece JÙeÙe ngDee~
(a) 2009 (b) 2012 (c) 2014
(d) Cannot be determined

75. If 17, 117, 117  171, then find quotient.
Ùeefo 17 117 117 171, , , lees Yeeieheâue %eele keâerefpeS~
(a) 10100 (b) 100010 (c) 100100 (d) 101000
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ENGLISH COMPREHENSION AND
LANGUAGE

Directions for questions 76 to 78 : In each of the
following questions, one part of the sentence has an
error and the other parts of the sentence are correct.
Find out which part of the sentence has an error and
mark that part as your answer out of (A), (B) and (C). If
a sentence is free from error, then choose your
answer as choice (D).
76. India's travel and tourism industry is poised

(a)/on grow at seven (b)/ percent this year
alone. (c)/ No error (d)

77. More than one seienlisl have (a)/ contributed
to the success (b)/ of this venture. (c)/ No error
(d)

78. Video games may not necessarily (a)/ adversely
affect the academic   results in children  (b)/
contrary to most parent's perception. (c)/ No
error (d)

Directions for questions 79 to 81 : Sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternative out of the four.
79. Drugs worth Rs 10 lakhs were ……… from the

MP's apartment by the police.
(a) manufactured (b) bought
(c) confiscated (d) ruptured

80. The linguistic ……… of refugee children is
reflected in their readiness to adopt.
(a) conservatism (b) adaptability
(c) inadequacy (d) structure

81. Many people in Delhi celebrated Diwali in a
grand way ……… the high prices.
(a) because of (b) even though
(c) in spite of (d) even if

Directions for questions 82 and 83 : Out of the four
alternatives, choose the one which best expresses the
meaning of the given word.
82. Windiness

(a) Brevity (b) Proposition
(c) Agreement (d) Prolixity

83. Despicable
(a) Contemptible (b) Faithless
(c) Desperate (d) Undersirable

Directions for questions 84 and 85 : Out of the four
alternatives, choose the word opposite in meaning to
the given word.
84. Susceptible

(a) Incredible (b) Predictable
(c) Immune (d) Unpredictable

85. Luscious

(a) Fickle (b) Insipid
(c) Deteriorating (d) Languid

Directions for questions 86 to 88 : Four alternatives
are given for the Idiom/ Phrase underlined in the
sentence. Choose the alternative which best
expresses the meaning of the Idiom/ Phrase.
86. "I take thee at thy word", said Romeo to Juliet.

(a) listen to you carefully (b) do not  believe von
(c) feel angry with you (d) truly believe you

87. The village headman pretends to be a good
Samaritan.
(a) a religious person (b) a helpful person
(c) a citizen of samaria (d) a law-abiding citizen

88. Consumers continued to wide berth to
shopping malls last month.
(a) give publicity to (b) publicly condemn
(c) keep away from (d) not sympathise with

Directions for questions 89 to 91 : A part of the
sentence is underlined. Below are given alternatives
to the underlined part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative.
In case no improvement is required, your answer is
(D).
89. Listen attention to what I say.

(a) attentively (b) attend
(c) attentive (d) No improvement

90. She has returned my jewellery box yesterday.
(a) had returned (b) have had returned
(c) has had returned (d) returned

91. I acquainted him about the fact of the case.
(a) with (b) on (c) to (d) at

Directions for questions 92 to 94 : Out of the four
alternatives, choose the one which can be substituted
for the given words/sentence.
92. One who abstains  from  alcoholic drink.

(a) Drunkard (b) Idiot
(c) Philosopher (d) Teetotaler

93. A specialist who tests eyesight.
(a) Optician (b) Neurologist
(c) Ophthamologist (d) Psychiatrist

94. Secret abusive writing in journals.
(a) Scurrilous (b) Sarcastic
(c) Speculative (d) Imaginary

Direction for question 95 : Four words are given in a
question, out of which only one word is correctly
spelt. Find the correctly spelt word.
95. (a) Coersion (b) Coiercion

(c) Coerssion (d) Coercion
Directions for questions 96 to 100 : You have a
passage followed by questions based on it. Read the
passage carefully and choose the best answer to each
question out of the four alternatives.
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All of us have enormous capabilities. In many of us
however, our achievements fail to correlate wit h our
potential, because of lack of self-discipline the effort
needed to channel our energy for productive uses. To
maximise your effectiveness you must "learn to put your
nose to the grindstone", work against boredom and learn
to take the long, hard way m life rather than the short,
easy way.

Here are a few suggestions that focus on "How to do
what you want to do." take risks. It is important to realise
that nothing in life is achieved unless you risk something.
That's how sell confidence develops. Every chance you
take, offers you valuable spin oils in terms of learning.
Earn a reward something back I had to face the rather
unenviable task of preparing for two examinations
simultaneously. I had to be ruthless in driving niysell
from one goal to another. Hard nosed attitude saw me sail
through the courses. I rewarded my self at the end of this
indulging in my favourite pastime and taking a short
holiday.
96. Why do our achievements fail to correlate with

our potential?
(a) because of lack of intelligence.
(b) because of lack of discipline.
(c) because of lack of external help.

(d) because of lack of self discipline.
97. How does the author reward him after his

success
(a) by taking a short holiday.
(b) by visiting friend.
(c) by thanking God.
(d) by doing more work.

98. How does one's self-confidence develop-
(a) by taking risks.
(b) by always meeting with success.
(c) by thinking.
(d) by grabbing the opportunities.

99. What does every chance in our life teach us?
(a) It helps us to become philosophical.
(b) It helps us to become idealistic.
(c) It helps us to learn.
(d) It shows us our limitation.

100.What does the author try to convey?
(a) One has to be complacent aboul his present say.
(b) One has to work hard and learn at least from

failures
(c) Only inborn genius brings success in life.
(d) One has to believe in luck.
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